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Agilent (= HP)
Signal Generator (ESG)

E4430B

Spectrum Analyzer (ESA)
E4411B

…
Scope
54622D

Vill. Lab II

7

Szerver;
e-Jegyzőkönyv

Szerver;
e-Jegyzőkönyv

Internet

METEX
ME-22T DMM

10. sz mérés:
900 MHz-es

FSK
adatátviteli
berendezés 
vizsgálata

10. sz mérés:
900 MHz-es

FSK
adatátviteli
berendezés 
vizsgálata

18

19
10

ARBgen, opt 001

ARBgen, opt 001

9. sz mérés:
Analóg

fáziszárt hurok
vizsgálata

9. sz mérés:
Analóg

fáziszárt hurok
vizsgálata
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I/O interface: USB/GPIB 
Plug-and-Play (PnP); Transparent interface

USB = Universal Serial Bus

GPIB = General Purpose Interface (Instrument) Bus

HP-IB = IEEE488 = IEC625

Local

“ Go to Local ”
II. félév: ESA és ESG is !!

“ Go to LocalLocal ”
II. félév: ESA és ESG is !!
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ARBgen Opt. 001: Ext Timebase ( @ “Slave Gen” )

REF GENREF GEN
10 (GPIB)

„Slave Gen”„Slave Gen” REF GENREF GEN „Slave Gen”„Slave Gen”

9. sz mérés:
Analóg

fáziszárt hurok
vizsgálata

9. sz mérés:
Analóg

fáziszárt hurok
vizsgálata

Rear
Panel

/ REF GEN Ref Out to ”Slave Gen” Ref In /

“Slave Gen” is 
phase-locked

to REF GEN

Connecting a valid signal to the reference frequency input 
at the rear panel

automatically sets the instrument to use the external timebase.

No user intervention is required. 

Connecting a valid signal to the reference frequency input 
at the rear panel

automatically sets the instrument to use the external timebase.

No user intervention is required. REF GEN
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Freq Domain :
FFT

Freq Domain :
FFT

10. sz mérés:
900 MHz-es

FSK adatátviteli
berendezés vizsgálata

10. sz mérés:
900 MHz-es

FSK adatátviteli
berendezés vizsgálata
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E4411BE4411B 1.5GHz1.5GHz

CAUTION:CAUTION:

Power ONPower ON
StandbyStandby

N 
female

(!)

““ Go toGo to LocalLocal ””
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(!)

E4411B
SpA
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SuperHet SA: http://www.educatorscorner.com/index.cgi?CONTENT_ID=2491
Time Domain vs. Frequency domain: http://www.educatorscorner.com/index.cgi?CONTENT_ID=2489

Sweep (time)

Res 
BW

Span

/dB/
Video 
BW

Atten Ref
Level

Span
(freq, LIN scale)

Ref
Level

Ampl
/dB/

Res 
BW

http://www.educatorscorner.com/index.cgi?CONTENT_ID=2491
http://www.educatorscorner.com/index.cgi?CONTENT_ID=2489
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Span,  Res BW: RBW,
Sweep (time): ST

(Auto Couple ...)
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EscapeEscape

ReturnReturn

MEASUREMEASURE MARKERMARKER

“ Go to Local ”
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Span
Sweep
time

Res
BW

Video
BW

Center
freq

Ref
level

dB/DIV

Atten R (remote): “Go to Local ”

Ampl

Freq
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10 MHz peak

4 DIV

Trace (1,2,3) mode:
clearWrite,StoreBlank
Trig / Sweep:
FC: FreeRun/Continuous
AA: AutoAlign ON

5 MHz / DIV
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IntuiLink
WORD Toolbar

connect
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Trace (1,2,3) mode:
View,clearWrite,
StoreBlank,
Trig / Sweep:
FC: FreeRun/Continuous
AA: AutoAlign ON

“bal Kutya” …
WORD :

R (remote): “Go to Local ”

V1

W2

W1
Trace

Trace
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E4430BE4430B 1GHz1GHz

DD

Standby (yellow)Standby (yellow)
LinePower LinePower (green)(green)

Toggles the power
Between ON and Standby !!

Q input

I input

(!)

MOST nem
használjuk
MOST nem
használjuk

““ Go toGo to
LocalLocal ”” N 

female
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RF: Radio Frequency
CW: Continuous Wave = sine

VCO: Voltage Controlled
Oscillator

Frac-N: Fractional-N
divider

ALC: Automatic Level
Control

9. sz mérés:
Analóg fáziszárt

hurok (APPL)
vizsgálata

(nem Fractional-N PLL)

9. sz mérés:
Analóg fáziszárt

hurok (APPL)
vizsgálata

(nem Fractional-N PLL)
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FM

AM
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RF OUTPUT
(CW, carrier)

Mod
signal

BNC

N 
female

(0.01Hz)

(0.02dB)
Why is an amplitude value of 100 mV 

displayed as 100.111 ... mV?

“The amplitude resolution of 
ESG is 0.02 dB.”

If we enter 100 mV, the ESG will perform 
the following calculations: 

1. Calculates the power in Watts: 
P = V^2/R 

2. Converts Watts to dBm: 
Pd = 10log(P)  = -6.9897 dBm 

3. Rounds up to the closest even 
hundredth:  Pd = -6.98 dBm 

4. Recalculates back to voltage in mV:
P = 10^(Pd/10) and 

V = sqr(P*R), therefore V = 100.111 ... mV 

Why is an amplitude value of 100 mV 
displayed as 100.111 ... mV?

“The amplitude resolution of 
ESG is 0.02 dB.”

If we enter 100 mV, the ESG will perform 
the following calculations: 

1. Calculates the power in Watts: 
P = V^2/R 

2. Converts Watts to dBm: 
Pd = 10log(P)  = -6.9897 dBm 

3. Rounds up to the closest even 
hundredth:  Pd = -6.98 dBm 

4. Recalculates back to voltage in mV:
P = 10^(Pd/10) and 

V = sqr(P*R), therefore V = 100.111 ... mV 

option(s) not installed

SettingSetting

TuningTuning
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I input

Q input

ReturnPreset

Status message

R (remote): “Go to Local ”

LocalLocal
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IntuiLink
WORD Toolbar

Option UDN (Dual Arbitrary Waveform Generator) 
is not installed

connect

Status message

“bal Kutya” …
WORD :


